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1. (20012 (27813 (2411, (28} II I

Please draw a | box | around vour answers, No caleulators, cell-phones, notes, ete. allowed.

1.( 3= T=21pts) Compute the following double integrals.

(You do not m*ul ln Hl‘[‘llpllf\ your answers - e.g. 2+ 3 — 1 % is fine.)
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(b) J:[ | zy jeos(l + xy°) dA  where R is the rectangle with corners (2. 2), (2,1), (4.1). (4,2).
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(c) jjln; dA where R is the region inside y¥* =z — 1 and y = 2 — 3 'n ‘-‘-}l::ﬁ-!
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2. (3% 9=27pts) Change the following integrals in the indicated manner, but DO NOT INTE-
GH ATE.

) Reverse the order of integration.
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(b) Change to polar coordinates,
JIIIL{I + y*° ] dA  where R is region given by R= {{r.y):4 <22+ ¢* <9, and y = 0}
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3. (3= 8=24{pts) Compute the following line integrals.

(a) J a°y ds where C is the line segment from (0, 1) to (1, 2)
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(c) J F & dr where F(x.y) = (y, ) and C is the curve £ = ° from y = 1 to y = 3.
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4.(3+3+8+8+6==28pls) The following parts are about conservative/nonconservative vector fields
and the Fundamental Theorem of Line Integrals

(a) Is F = (ye* + xzye™ + 1, xe®™ + 2y conservative?

e ! (Show why or why not.)
%3 (ﬂ e

;4

of 1.:1{
e + ¢ —

__._.c

( onservebive .

(b) Is F = 2xy cos{x*y)i — 2° cos(x®y)j conservative?
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(Show why or why not.)
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(¢) The vector field F = (2xy + 2)i + (2? — 2y)j is conservative, Note:
Find a potential function ¢ with Vg = F.
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(d) Use the Fundamental Theorem of Line Integrals to calculate
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